
Quanity Regular Price Discount Sale price

5220-001-0284 (Chain lock 1/2" Kantv.) 3 7,26$              50% 3,63$           
7000-000-1021 (Vacuum Hose 127mm 3m PU/M) 3 164,56$          50% 82,28$        
7000-000-9501 (Screw for clamps) 11 9,46$              50% 4,73$           
7000-000-9506 (Clamps/Gibbs Mod.2 Adjustable) 4 106,26$          50% 53,13$        
7000-000-9508 (Knife clamping gib narrow TIMKIL-038) 4 119,46$          50% 59,73$        
7000-000-9600 (Threaded Pins TB-90) 30 5,50$              50% 2,75$           
7000-001-2005 (Electrical motor 3kw 3-phase US) 1 704,00$          50% 352,00$      
7000-001-2010 (Electrical motor 3kW 1-phase US) 1 853,60$          50% 426,80$      
7000-002-5300 (clamp for TB90) 10 31,24$            50% 15,62$        
7010-000-1005 (Tormek Jig for planer knives SVH-320) 1 303,60$          50% 151,80$      
7010-001-1024 (MH-380 Tormek) 3 38,06$            50% 19,03$        
7010-001-1046 (Honing Compound PA-70 Tormek) 4 5,00$              50% 2,50$           
7020-001-0130 (Flexiholders 87x112) 10 11,44$            50% 5,72$           
7020-001-0135 (Flexiholders 104-138) 2 11,22$            50% 5,61$           
7202-001-0064 (Open End Wrench 10mm SH230) 6 11,44$            50% 5,72$           
7202-001-0242 (Wedge for SH230 & LHM, 230 mm) 2 48,84$            50% 24,42$        
7301-001-0240 (DH410 belt upper) 3 73,95$            50% 36,98$        
7500-000-1020 (Setting block) 1 41,80$            50% 20,90$        
7500-007-1050 (Repair kit PH260) 12 35,42$            50% 17,71$        
7502-001-0000 (Right Thread Vert. Cutter Shaft. pos. 7) 1 272,80$          50% 136,40$      
7502-001-0020 (Cutter Shaft 2 Left Thread, pos. 11) 3 272,80$          50% 136,40$      
7502-001-0022 (Switchpin PH260, pos. 5) 7 22,00$            50% 11,00$        
7502-001-0024 (Main switch SH230 Pos.) 11 129,80$          50% 64,90$        
7502-001-0030 (Spindle nut left hand threadPH260/360) 24 56,54$            50% 28,27$        
7502-001-0036 (Locking handle PH260, pos. 6/DH410) 5 16,06$            50% 8,03$           
7502-001-0038 (Distance ring H=40mm PH260/360 P.7,11/32) 1 27,28$            50% 13,64$        
7502-001-0042 (Distance ring H=20mm PH260/360 P.7,11/32) 3 22,88$            50% 11,44$        
7502-001-0044 (Distance ring H=10mm PH260/360 P.7,11/32) 2 20,02$            50% 10,01$        
7502-001-0048 (Locking ring pos. 7,11) 2 3,08$              50% 1,54$           
7502-001-0052 (Upper track bearing Pos. 7,11. PH260/360) 1 34,10$            50% 17,05$        
7502-001-0064 (Chip outlet upper) 2 53,46$            50% 26,73$        
7502-001-0068 (Chip outlet lower) 1 53,68$            50% 26,84$        
7502-001-0072 (Brake Pin 6*20/PH260 pos. 16 (rubber roll) 43 5,94$              50% 2,97$           
7502-001-0074 (Protective plate exit, pos. 17) 19 47,74$            50% 23,87$        
7502-001-0076 (Bearing bracket PH-260 M2 pos.18) 8 103,40$          50% 51,70$        
7502-001-0083 (Bearing holder PH260 Inner core pos. 4) 5 31,02$            50% 15,51$        
7502-001-0092 (Locking handle M8x20 PH260 pos.21) 1 22,44$            50% 11,22$        
7502-001-0112 (Bronze bushing 12mm PH260 Pos.25) 14 7,25$              50% 3,63$           
7502-001-0114 (Chain sprocket) 7 32,34$            50% 16,17$        
7502-001-0118 (Chain lock 1/2" PH260/360  Pos.27/) 15 5,94$              50% 2,97$           
7502-001-0120 (O-ring Cutterbearing PH260/360 P.18,33/56) 57 5,94$              50% 2,97$           
7502-001-0128 (Emergency stop pos. 30. PH260) 1 60,94$            50% 30,47$        
7502-001-0132 (Control button,ON) 3 53,68$            50% 26,84$        
7502-001-0134 (Lamp holder with cap) 5 53,68$            50% 26,84$        
7502-001-0136 (Control button OFF) 2 60,94$            50% 30,47$        
7502-001-0146 (Bearing Bracket Lower cutter P.33/56) 7 56,76$            50% 28,38$        
7502-001-0164 (Upper bearing washer crank handle, pos.39) 5 25,52$            50% 12,76$        
7502-001-0166 (Upper bearing washer PH-260 Pos.40) 2 25,74$            50% 12,87$        
7502-001-0178 (Moveable Side Cutter PressureRoller,Pos46) 2 138,82$          50% 69,41$        
7502-001-0179 (Holder press.roller PH260/360 Pos.46/76) 2 29,92$            50% 14,96$        
7502-001-0194 (Sleeve wormgear 18mm PH-260 pos. 50 BF) 5 53,68$            50% 26,84$        
7502-001-0196 (Guide axle) 20 18,04$            50% 9,02$           
7502-001-0197 (Strut) 1 22,44$            50% 11,22$        
7502-001-0210 (Crank Handle pos. 1. PH260) 2 100,76$          50% 50,38$        
7502-001-0211 (Pressure fase) 2 536,80$          50% 268,40$      
7502-001-0212 (Pressure fase bracke pos. 66) 2 15,40$            50% 7,70$           
7502-001-0217 (Trip breaker 16A pos. 67. 1-phase) 1 62,70$            50% 31,35$        
7502-001-0218 (Brake card PH260/360) 1 239,80$          50% 119,90$      
7502-001-0225 (Side roller #2 compl PH260, pos. 68) 2 93,94$            50% 46,97$        
7502-001-0228 (Side roller bearing pos. 68, PH260) 2 20,02$            50% 10,01$        
7502-001-0234 (Open end wrench 30mm) 3 38,50$            50% 19,25$        

NEW  STOCK  ITEMS   - SPECIAL DISCOUNT    50%



7502-001-0240 (Flexible Hose 0,4 m PH260, pos. 65) 6 124,08$          50% 62,04$        
7502-001-0300 (Belt Pulley Motor PH 260/360 P23,48/21,25) 9 130,02$          50% 65,01$        
7502-001-0312 (Bronze bushing) 17 11,55$            50% 5,78$           
7502-001-0360 (Contactor PH260 pos. 67 3-phase) 3 86,90$            50% 43,45$        
7502-001-0362 (Contactor PH260 pos. 67 1-phase) 2 84,70$            50% 42,35$        
7502-001-0394 (Shear pin for Chain sprocket PH260) 21 3,30$              50% 1,65$           
7502-001-0395 (Screw for sprocket PH260/360 Pos.52/123) 10 3,30$              50% 1,65$           
7502-001-0405 (Setting ruler PH260) 1 210,54$          50% 105,27$      
7502-001-0415 (Motor Upper/lower PH260, 1-phase) 2 693,00$          50% 346,50$      
7502-001-0425 (Motor Feeding 1-ph, US) 1 552,20$          50% 276,10$      
7502-001-0512 (Sleeve wormgear 9mm PH-260 pos.50 MV) 4 53,68$            50% 26,84$        
7502-001-0514 (Sleeve wormgear 1mm PH-260 pos.50 MV) 4 53,68$            50% 26,84$        
7502-001-0600 (Bushing/sidecutterUS) 3 27,94$            50% 13,97$        
7502-001-0606 (Motor upper/lower PH260, 3-phase) 3 693,00$          50% 346,50$      
7502-001-0607 (Electric Feeding Motor, 3-ph,220, US) 1 312,40$          50% 156,20$      
7502-001-1000 (Screw; insert plates PH260, pos. 69) 43 0,24$              50% 0,12$           
7502-001-1024 (Main switch pos.5 incl. gaff. MOD. 2) 1 104,50$          50% 52,25$        
7502-001-1174 (Trapezodial thread bar, pos.44) 2 179,74$          50% 89,87$        
7502-001-1193 (Replacement Kit Motovario/Tramec) 3 26,18$            50% 13,09$        
7502-001-2064 (Chip outlet upper M3) 1 69,52$            50% 34,76$        
7536-001-0003 (Plastic insert, wide, PH-360 Pos.3  (8-3/4" x 18-1/8")) 6 139,26$          50% 69,63$        
7536-001-0005 (Steel insert, wide, PH-360 Pos.3  (8-3/4" x 18-1/8")) 1 177,76$          50% 88,88$        
7536-001-0037 (Protective plate PH360 Pos.37) 1 77,00$            50% 38,50$        
7536-001-0052 (Locking levers M10 PH360 Pos.52) 1 34,98$            50% 17,49$        
7536-001-0123 (Feed chain sprocket PH360 Pos.123) 5 101,42$          50% 50,71$        
7536-001-0134 (Wedge 510 mm PH-360 Pos 134) 4 177,76$          50% 88,88$        
7536-001-0139 (Bronze bushing PH360 Pos.139) 21 47,96$            50% 23,98$        
7536-001-0165 (Reinforcement pos165 PH360) 1 26,84$            50% 13,42$        
7536-001-0179 (Main switch PH360 Pos.179) 1 51,48$            50% 25,74$        
7536-001-0184 (Side roller replacing 7502-001-0224) 1 98,00$            50% 49,00$        
7536-001-0223 (Locking leversM10x20 PH360 Pos.223) 1 24,20$            50% 12,10$        
7536-001-0260 (Crank Handle Pos.260. PH360) 2 77,66$            50% 38,83$        
7536-001-0500 (Fence Extended out-feed sides PH360) 1 470,80$          50% 235,40$      
7536-001-0505 (Fence Extended PH360 L=1300mm) 2 651,20$          50% 325,60$      
7536-001-0714 (Setting block PH360) 5 41,80$            50% 20,90$        
7536-001-094A (Chip duct, fixed cutter PH360 Pos.94B) 1 134,86$          50% 67,43$        
7536-001-1084 (Press roller PH360 Pos.78-86) 2 119,90$          50% 59,95$        
7536-001-109D (PH360 counter depth adjustment, inches) 1 341,00$          50% 170,50$      
7700-001-0300 (Poly-v-Belt MCS Log House Molder) 2 23,54$            50% 11,77$        
7700-001-0320 (Belt pulley Log Hous Molder 066) 1 102,52$          50% 51,26$        
8020-001-5024 (poly v-belt for LM410 gasoline) 2 62,04$            50% 31,02$        
9007-319-2070 (TB90 Lock screw; black) 2 0,77$              50% 0,39$           
9009-027-0005 (Fuse for PH360 circuit board) 1 3,00$              50% 1,50$           
9045-319-0408 (Soc.head screw M4x8) 5 0,18$              50% 0,09$           
9045-319-0616 (Soc.head screw M6x16) 2 0,29$              50% 0,15$           
9045-319-0820 (Soc.head screw M8x20) 32 0,46$              50% 0,23$           
9045-319-1780 (Adjustment screw) 20 0,40$              50% 0,20$           
9045-319-1801 (Soc.head screwM10x20) 9 0,95$              50% 0,48$           
9045-319-1850 (Soc.head screw M8x25) 5 0,62$              50% 0,31$           
9045-319-1880 (Soc.head screw M8x35) 5 0,75$              50% 0,38$           
9045-320-0810 (Soc.head screw M8x10) 1 0,95$              50% 0,48$           
9099-021-2400 (Screw 3,5x13) 2 0,24$              50% 0,12$           
9214-320-0900 (Locknut M6) 26 0,11$              50% 0,06$           
9291-021-0110 (Washer A 4,3) 5 0,07$              50% 0,04$           
9291-021-0180 (Washer M8) 17 0,15$              50% 0,08$           
9999-000-6059 (Belt tensioning nut) 1 0,53$              50% 0,27$           
TB912-92 (TB912-92  (5") head for PH360) 1 688,60$          50% 344,30$      
TB95-92 (Universal cutter TB95) 4 354,20$          50% 177,10$      


